1.2 (#+5) = .{ (27+5)

)22+ 4 =32x+ 0
{ -8 = 2.2x -1, 2
5 = x(22-172

4) 1.2(x +5) =1.6(2x +5)

#(2)
=) = K
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7 Kar)>213(x+ 1.1)

__’_
T

—1.83 x> 2.0%3

SOLUTION

, Solvc each of the followmg cquauons & mcqualmcs (graph the so]utlons for the mcqualmcs ona a number Ilne)
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Solve for the indicated variable and state any restrictions:

10)5E=¢2 x #$=t -3
x+3= - t?
Y +t3 = 2‘:2
=773
BV =2rh ,r = SZX’
! 7 r o
VEZeh 532V _.7
DA P h
n "z
2V -n
_3_\—/. :W-f‘.z% h
h
12)S=L(1-1),r r;]_s//_
s=L(FD
__5_=1~r~j‘> "3 Hl=n
L
,;..l:-'Y‘ V:I'S/L
-
me=52 4 A= 2Q-c
c+
Q-4
2@ -c+d
2Q -¢ =

15)§(x+3) =g ,x

7333

Y (x+3) =G

¥x13) = 7- 2
(#x+3) = % 2
X =Zg-3
2A
16)A=3ah~3bh .k h="a-1
A=+ ah-Lbh 28 ),
a-b
A= hisa-5b)
e .
a(x+c)=b(x—rc) ,x - .b'l'
17)yalx +c) = b( ) x= b -
a4+ =b (x-9 _ ‘bC‘“:'C
ax+ac =bx -be 0
= bec+ac
Adx-bx = -E;;fjc * '_CET?
2 la-by = r
18)x-2y=5 .,y y.:___g__
A2y =5
‘-Zgr= 5-x
23 = 7{-'5



